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Name: __________________________________



1
Factored completely, the expression [image: image1.png]12x% + 102° - 1242



 is equivalent to

	1)
	[image: image2.png]x(4x+ 6)(3x - 2)





	2)
	[image: image3.png]2(2x° + 30)(3x° - 2x)





	3)
	[image: image4.png]2x3(2x - 3)(3x + 2)





	4)
	[image: image5.png]2x3(2x + 3)(3x - 2)







2
Factor:  [image: image6.png]2x% + 16x7 + 32x°





3
Factor:  [image: image7.png]2x2 4 3x—2





4
Factor:  [image: image8.png]3ad+a-2





5
Factor:  [image: image9.png]3x2 — 5x— 12





6
Factor:  [image: image10.png]4a® +9a -9





7
Factor:  [image: image11.png]4a® + 11a - 20





8
Factor:  [image: image12.png]10x% + 11x- 6





9
Factor:  [image: image13.png]16¢2 - 48¢ + 35





10
Factor completely:  [image: image14.png]3 4 510 - 12t






11
Factor:  [image: image15.png]122 + 14— 6





12
Factor [image: image16.png]6x> + 33x% — 63x



 completely.

13
Factor:  [image: image17.png]oxt — 12x% + 422





14
Factor:  [image: image18.png]




15
Factor:  [image: image19.png]




16
Factor:  [image: image20.png]




17
Factor:  [image: image21.png]




18
Factor the expression [image: image22.png]12685 — 754



 completely.

19
Factor:  [image: image23.png]- (x-6)°





20
Factor:  [image: image24.png]atvat+l





21
Factor:  [image: image25.png]x4zt + 16






1
:
4

[image: image26.png]12x* +102° - 122 = 2% (6% + 55— 6) = 22° (2x + D(3x - 2)





REF:
061008a2

2
ANS:


[image: image27.png]228 (x+ 4)(x + 4)




REF:
019004al

3
ANS:


[image: image28.png](2x—1)(x+2)




REF:
069503al

4
ANS:


[image: image29.png](3a - )@+ 1)




REF:
069802al

5
ANS:


[image: image30.png](Gx+4)(x-13)




REF:
030501al

6
ANS:


[image: image31.png](4a - Dia+ 3)




REF:
099503al

7
ANS:


[image: image32.png](4a - S)a+4)




REF:
010502al

8
ANS:


[image: image33.png](5x—2)(2x+ 3)




REF:
090402al

9
ANS:


[image: image34.png](4c = T)(4ec - 5)




REF:
069707al

10
ANS:


[image: image35.png]3t -4t + 3)




REF:
010111siii

11
ANS:


[image: image36.png]202a + (3 - 1)




REF:
060502al

12
ANS:


[image: image37.png]6x° + 332" - 635
3x(2x% + 11x- 21)
3x(x+ H(2x-3)




REF:
061628a2

13
ANS:


[image: image38.png]X (3x- D)(3x-2)




REF:
039506al

14
ANS:


[image: image39.png]



REF:
030003al

15
ANS:


[image: image40.png]&+ D+ D+ Dix- 1)




REF:
019506al

16
ANS:


[image: image41.png]x+ D+ D - 2)




REF:
099403al

17
ANS:


[image: image42.png]



REF:
039404al

18
ANS:


[image: image43.png]1265 - 751t = At (art - 25) = a2t + 52 - 5)





REF:
061133a2

19
ANS:


[image: image44.png](x* -
X+
5
N(x+ 3
(x-
-2




REF:
039005al

20
ANS:


[image: image45.png](@ +a+ D@ -a+1)




REF:
069707al

21
ANS:


[image: image46.png](x* +
2%

+
4
it

- 2x
+
4)




REF:
069404al

